
19149

2

div
Db

div
Vc

unis

Vla
div

unis

(con sord)
Vl II

div

Vl I
div

2½–3" = c72 colla parte 3
8

accel 4
8

= c108 rall
c72

= 4

Solo Vl

7

7
=

3 3
3 3 3

3

Hp 2
G

Hp 1
B  C  D

8

Perc 1
Vibraphone

8

Cl (E ) 2
take Cl in A

Cl (B ) 1

3

Picc 2
5

take Fl

Fl 1

12
2½–3"

= c72 colla parte 3
8

accel

6

4
8

= c108 rall
c72

= 4

div
Db

Vc
div, con sord

Vla
div, con sord

Vl II
1–6

Vl I
div

5
8

= c72 6
8 X 2½–3" colla parte

Solo Vl

5
6

3

sul tasto

3

poco rall
6

norm
= c108

’

Hp 2

Hp 1

Perc 2

Glock 6

3.4

Hn

1.2

Ob 1

Picc 2

7
5
8

= c72

5
5

6
8 X 2½–3" colla parte

an extract from Harrison Birtwistle’s Violin Concerto 
for a perusal copy of the full score, please email hilary.jansen@boosey.com 




